Solve the Inequality (3x+2)(x+4)(x—1) <0

e Add or subtract Quantitiesto both sides to get zero on one side.

Already Done

e Findthe zeros of the non-zero side:

o Solve Bx+2)(x+4)(x—1)=0

o{-2/3,-4,1}

e Use the zeros as cut-pointsto define possible solutionintervals.




Solve the Inequality (3x+2)(x+4)(x—1) <0

e Chooseanumberfrom each interval and determineif itisa
solutionto the inequality by pluggingit into the original expression.
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BE5)+3)((-5)+4)((-5)-1)<0 = (-12)(-1)(-6) < 0 = True

BE2)+3)((—2)+4)((-2) —1) <0 = (-3)(2)(-3) < 0 = False
(30)+3)((0)+4)((0)-1)<0 = B)W)(-1) <0 = True

B@)+3)((+4)((2)-1) <0 =>(9)(6)(1) <0 = False

Solution Set = (—o0,—4] U [— %, 1]



Solve the Inequality (3x+2)(x+4)(x—1) <0

Graph f(x) = B3x+2)(x +4)(x —1) Whereis f(x) =07?

Solution Set = (—o0,—4] U [— %, 1]



